No.1
FSwD - J4—ILFEEH - R - 5oikE BGLET)

el 450 a— R |§| B FIBERSABELH 1 FER EBAR ERRERRS ® FHRBFEER=AS1-7REBRRGE: 22— W re S RE KB KB EZOCW)

e Bl BHESSYRATERRSANHN. RSAREBEGS sus SIS a—F [ 223150 | gkt #K {53

ar | me |V alee | omees | pie es | x| om wse | M mmens e es | wews | om ek

0/T8| BT 1 &E | R | |04 1[BXK = 1|2 TTB13 | 2|[XE mA | |=fkm B39 [3[AE im | |2kH T4 4B AE 1 |HERE 13555
oo 5|#%  fhse 1 |mEfE 1963 |[6[LARKE 1|2kx 968 | |HE & 1|20 £ PN EA 1 |HEfE /3]

07/T8|BF 1 & | BB | |+0. 1m| 1 | WA 1|20 2001 2|k Ex 1 |=mm 22155 |3 |REEAL 1 |H&RE 23908 ([4|LRBAR 1 |=fm= 23539
2o 5[LO &fr 1 |ER 23%346 6|FE HR 1[#Bn 22054 |[T[IL mE 1 |m= 237065 | [EEHBEAB 1|2 x5

07/T8|BF 1 & | i IS BN AR EEEEIEES 25020073 [BA B | |BERE 25038134 |B_AM AR T |Z2RR 253057569
oo SRR 2R 1|28 27506152 6|88 fBA 1 |2km 2310852 || 7[Rl mA 1 |2fEL 25121088 [B8 MA 1 |BAR 253167595

07/18|BF 1 & | RBF TIREZAE 1 |PHR 90T 2|2 [(Em=AR 1 |2T R K EE 9532041428 R T |ER 973205548
000 EEE S 975227009 (|6 [EE A 1 |m= 952TIA5 | T|BE =ik 1 |BHR 9537F 8|8 [IBE BX 1|B)T 95339773

07/T8|BF 1 & | BB | |+0.0m| 1 | WA 1|2 BN BEIEE R 544 |3 K& Efe 1|2 67040 || 4|38 &4 1|2 67069
om0 91w 58  f2E 1 |HaRE 17%305 6% =% 1|Em T | |[BE &% 1 |2hEx /3]

07/18 %gg m1w£|z$ R Zl mE || EEE R

0T/T8[BF 1 5E | R B  EE me0 |2 |Hm mH 1| E=E DO BEEEEE R E mo_ 4|1 BE 1 [=0 Tme5
il FH XE 1 |2m [

07/T8[BF 1 5E | R TRE & 1|20 tmo5 || 2[FH BA 1 |HEE XA I TR I Gmi0 |4 AR &r 1 |HEE 6m04 (+3. 4m)
R S5[HE R 1 |BRPR = ngé%m NEEEEEE S Q?}%T?ff';::)) TIEE mE | EEe +5]m'56§" 8[—® = 1|2@’T %55772(2]77;13

OT/B[BT 1EE | R THE HE | FR A XE EA 1 |EBL T BA ZE 1 |BL R =% KE 1|2BL e
AR O Sleak % 1 ([#&%E 8m77 6(mAK BEE 1|&E 8m05 Tl K 1 (|EEmE 8m01 8k mE 1|2R TmI1

07/18[ B+ TEE R NEERE T EEEED Bme2 |2 |=@ REE T |BRL 20m29  |[3[RAM EA 1| EEE 20ma2 || 4| X A 1| BRL 22m38
Fsiill. Toke] 51N ERE O1|24Eh 20m91 6|1EA MR 1 [REE 19m76 TR WE 1246 18m33 8liv R ERE 1|2 17m66

07/18[ B+ 1EE R T|Ha BE | |Eze o3k |2[BE HF 1 |Eze 4imis |3 |km B— 1 |=mkn A0ms5 || 4[AA =& 1| 30m81
©YRIO S SlRL A 1|2 309 |6 |[BEH ZL 1[/MRIF 3ms5 || 7(%F BA 1|@O 3imd6 | 8|@F HF 1 |R= 20m00

07/18|&KF 1 && | RB | |3.on1|2m =& 1|2 284 2|1 w1 |2he 127568 (3 |BRERIAT 1 |2mBm 2014 |4|BA BEx 1 |2REm 127589
oo 5IkE ZEm 1 |2Rm 13925 |6[BZ Tk 1|2k=n 13828 |[7|LOtEE 1|21 13151 MHESE 1 |BEME /3]

07/T8[RTF 1 & | kBB | |+2.9| 1 |[NE &a 1|2k 268006 || 2|%:L #2)7 1 |=ham 26763 |3|BA Max 1 |=mm 26186 4|2z BE 1 |ER 27557
200m 5| Ew I |HEE 2780 (6Bl T 1|2’ 2% |1 [BERCET 1 |2BA 211096 |[8|HA Bz 1 |mafk 277599




bSvD - J4—ILFEER - RE -

RRERER (B FE T)

No.2

Feth =4 a— R |§| WA FIBMRSABELH 1 FEREHAS BRREHEE R PHBEER=AC1-7REREESRE: o— W FHRE REE BE(My) RE B0
e Bl BHESSYRATERRSANHN. RSAREBEGS sus SIS a—F [ 223150 | gkt #K {53
ar | me |V lalee | mees | pie es || wexs | om ek )] wwwe | wm es || wews | om ek
0/8| BT 1 BE | RB 1% E& 1|2k A AT 2L 253207034 3 |RE EZE 1 |HEE XN AEEE R EES 27336%503
500m S5[#mr BE B/ EXF 267\369R#LL‘14 6(fik FE 1|k 293397028 7 [REE FNE B/ ERF | 274278077| 8 |E# E 1[EFE#H 25735117
0//T8|&F 1 BE | RB TRE =% 1 |Ha8% A550MA0| 2 | Fl: BE 12T TH0I03 | 3| BA HE 1 |=hm 51094 4Nk & 1 |[BR 553137549
1ooom S TS YR A E R 523627 B TE 1R 553261064 8 [MBEER 1 |2/ 543337564
07/T8|KF 1 &2 | RBF | |+0./m| 1 |8A #x S 5827 |2 F Bm 1 |m=fE 57585 || 3 |mRE kit EREhR 68025 |4 |hA=2m 1|2k 77535
100nYALO. 76241 BT 852 ||6|LA WA 1 |RE BB | [BEEEA 1 |RE x5
07/18| &% 1 && | R TIAE BH B/ IEET |0713080 WA BE 1 |REZE £y
07718 g(%)mTwiﬁi R IEEERI L I A 50 (3[R mab= 1 |moAE s ||4|FE Bl | |=ieE T
R G = =T ?féié 6% =2 1 |2ma a0 || 7|E K& 1 |BRHR 35 |8|BAE =% 1 |==B Tm30
07/18| &K% 1 && | RB T RED= BB 53 (+2.6m) || 2 |SEEH  RAE 1|21l dmid 3| &= £33 miac2.om| 4| E mE 1 |ER b2 (+2. m)
ENE Bk 235m33 (+1. 2m) G +1.6m 434m63 (+1. 9m) 234n33 (+1. 3m)
SEERES mdy |[6|@F BEF 1| and8 [ T[LTF =W 1 BE mBE2.om | 8|FH T K1 |BRh 4m32 (+4. 5m)
_ +1.4m _ +0. 9m _ 434m16 (0. Om) _ _ 434m18 (+1. 0m)
OT/T8[EF 155 | A5 IEE Bn79 2[R Y B 1|/ 6T |3 | AERRE 1|BEHE I R EE T Tmdd
Rl Oke 5\ES W T/ RERT | oed | [TARER T |RE x5
07/T8[&F 1 52 R M EER BB %mol |2 |&0 & 1| EEE 25m56 || 3 | AE Inde FE T 20m8T || 4|MRER Rk 1 |m= 20mb1
PRI o 5|HKREETF Y 20m07 6|aERKE 1(2R 19m38 TiEAD Y H INRFH 19m12 8|ER xm 1(E&/fExF 13m60
07/18|BF>1=7 | ok A EEE 0884 [2[6R W 2|=kn N BEEREES S TB12 || 4% BT 2|me 115
100m +1.1m +1.1m +1.1m +1.1m
5|fH#F BX B SR 117 (|6 [AERKL 2[|245FE 11#18 [[7[B1R 3|E BE 11#23 |[[8(£MA E 2[(ExE 11§025
078 BT o =7 | b TGO &BA  2|[ERm 501@1620 I[EE BA Z|RE 5+o11>»1éno IEB Hh 2|ERR go]i;éﬂg TEERAR  Z|PHR 5+11ﬂ\1éno
%0 5la0 B 2 |BE 527529 | 6|M@ER GhE  2|ZI 5255 || 7|BE R 2 |RE 5201 |8|BE —& 2|ERBL 537520
0//T8|BFo1=7| ieix &2 Ak SBERSR 275008006 || 2 | iR f2en 2 |HEfR 250124 3[AK BRI 2| 2hem 25501985 || 4 |UA BR 2|2l 2730335 16
oo 5[&% BA 2|BR 27503890([6 [I2A B 2 |BoEf 2503 |T[HH =& 2| BER 253045006 | 8 [Fi7E &% 2|3t 2530575 12
07/18|BF>1=7 | ok T REBE— 5 £33 87528083 |[2|/NL fafe 2 |ZJIT 9530280693 [AE BE S 910042 2% 2|2RL 973235533
3000m BERCSR INRF 974080936 [RE FRth 2 |ERF 9 4TF38 | 7 [RIBHES Y 957495085 8 |Fa4t #BiE 2 [RE 95754730
01/T8|BFo1—7 | RBE | [*0.0m T|RAF Zse Etarm T5/58 2|5 E BA 2|RE T6#90 || 3| L A%k 2R 17038 |4 Gk B 2 |Ek 227509
HOomHLT 067 F% BE  2|ERL 3 FH GFE 2| EEE /32




bSvD - J4—ILFEER - RE -

RRERER (B FE T)

No.3

ety =40 a— K |§| B FIBERSABELH 1 FER EBAR ERRERRS ® FHRBFEER=AS1-7REBRRGE: 22— 16221504 N BB BB EE B0
BRIl BHMESESRATERRS XM, BSAELIERGS  ss SNIThELERS a— R 223150 | @@ #hAK {S8h
e ome | [ ms] )] meens i wwe | M meens e wse | M mmens e e [N s e ek
07/18| B 7 LU AR RE 8 2 HHE BA 2 "R Hm 2 SEM ferE 2
4 x 100mR 1|ARBXRI 2|20 42182 (2|8l HE 2 |BEfE 437034 |13 [ BFE 2|RE 43745 4O E|A 2 |EEFH 43%054
As K& 1 BIE #E 2 i B 2 AT E®: 2
BE W 2 =m HFt 2 =EE K 2 RE ER 2
A =X 2 EI- &@ a2 TR
5|mErr R 1 |2EE 44319 (6|B# st 2|z 44m83 (|7|0r =& 2|BRze 443595 (88K BRE 2|EAF 455500
IR 1 Em —4%5 2 hrASL 2 We s
_ Bl BE 2 AS BlE 2 R HE 2 H#T A8 1
07/18|BF L ARIE B B 2 Bl HE 2 INOEERS 2 AT Ex 2
4'x 400nR 1@ K 2|mE 35277096 | 2 |BTER /S 2 |EEeE 353287056 | 3 |86k EBEE 2 |ERF 3520863 [ 4|0 WA 2 |2iEE 343207075
wK BEE 2 EREAS 1 T =S RE ER 2
Kty EBE 2 =M 5t 2 HT ME 1 EE OEH 1
RE =k 2 AE EL ] e A& | I &A1
5|RIE RmIn 2 |ZEE 3530849( 6|2m BHE 2|EBze 35335534 ( 7 | AEEKRF 2 |24EE 3536769 8| ILA ER 2 |miET 34337#620
IR 1 hH HF 2 /E B3 2 mA #&F 1
_ _ m BEfE 1] wH =% 2| WA Bth 2 2@ —4 2
07/18|B¥> 2 =7 | R T|RT Kt 2|2 1m80 2 [ FEE  2|mE 1m75 J[/AR &K 2[/NRFH 1m60
= _ _
07/18|%-7"v S5l —B 3|2 2m00
EE _ _ 0P ___ _ _ _
07/18|BF =7 | REs 1hba Zh 2|2 4m10 2 |/ wE 2|2 3m80 ngE ;AR 2(2N RI5
,.-. E _ _ _ _ _ _ _
VB S ESAE TIIEEER S 2 | = Tomol |2 k@ =R 2 |=fem TBndd 2. 3m || 3 | A RAR 2| Bfam Tmes || 4|/ h B 2| REE T2mi5
=ERBk +0. 9m 4313m43 (+2. 0m) +3.6m 2874 L +1.9m
S5|EE MK 2(FE 12m02 6|5%M FEIE 2(24EE 11m73 THER KRS 3} 2|BER 11m59 8ldtE #wmin 2 (EEHA 11m08
_ _ _ _ +0. Tm _ +0. 6m _ _ +1.3m - +1.8m__|
WGEHEESEAEL TNBE & 2|BhE Tomb2 || 2 |Eie B0 2 |k om8l |3 |EE BE 2|BRL Bmi9 || 4 N mER 2 |2BT mo9
WUEDEEP R E BN EAEE 32m04 || 2|IUA =it 2| =il 28m63 || 3 |\amE MEE 2 |FRE 25m74 |4 |RBEAR 2 |#hE 2550
A2 4% [1. 75ke]
= 5|EEBAER 22K 23m10 6[lLE EX 2128 18m70 TIME #th 22K 18m26 8|HhFT FEBR 2 |BEE 11m61
07/ 18| BFo 17| REE TIBA BA 2Bk ATmo6 || 2 |[ZF mE 2Bk m6s |3 Bl BA 2 | REE Pm22 | 4| KF —98 2 |mEEE 39m66
Y #%[0. 8kg
FETE A RS 328 || 6|FHE == 2|2RTR B3| 7 |E BE 2 |BEE 28m57
07/18|ZF>1=7| w&x IEE EAE 2031 |2 |FE =2 2|=2km 120162 |3 |B 2Rkt 2 |=2fRR 13503 |4 |BE =B 2 |2iEm 37505
100m +3.2m +3.2m +3.2m +3. 6m
F[PREEE 2 |2EE 13705 ||6|BA BH 2 |B2=R BT |7 |ER = 2|%/fExF | 1316 |8|8 =& 2|ERm 137016
_ _ +3. 2m _ +3. 2m _ _ +3. 6m _ _ +3. 6m
07/ 18| k7S 1=7 | ok TMEmET 2 |2km 0B 2 |[/FA bar 2| 2km TH02031 | 3 | B D BZX 2 |EW T2 12| 4|/NE =2 2 |BE 12503548
400m
SmE BE 2 |/MRF 15047060 6 [ NERERE 2|/ BT | 1006017732 M 2|IRHE 14305%558
07/18|ZFC =7 | wer EEEEEAS TS 5501820 2 |FH  #h= 2 |[&iL 553065082 | 3 |RE BE 2 |HEmE 55108041 | 4 | A BE 2|/ 1ERT |05 1204
1500m
B S G 55101018 6 |7 =H 2 |BmR 55 22/65|7 |BR BE 2|FHR 553007081 |8 |[lBE BR 2 |ER 553287047




No.4
FSwD - J4—ILFEEH - R - 5oikE BGLET)

ety =40 a— K |§| B FBER=ASEEH 1 FER LS BREEHES & PRSEER=AC1-7RESBEERSE o— 16221504 N RE KB KB EZOCW)
BRIl BHMESESRATERRS XM, BSAELIERGS  ss SNIThELERS a— R 223150 | @@ #hAK {S8h
e ome | [ ms] )] meens i wwe | M meens e wse | M mmens e e [N s e ek
07/18|ZEFC1—7 | 5r e EESD 10546002 2 [Tk 95 2| T0547500) 3 | &8 A 2 |m= 07477060 4 | TRERE 2| =km 1153045501
3000m
FIAH X&B  2|R=E EESE AREECEAES 5498247 | KB =H 2 |BERE 27310502 [Fill @& 2 |=fEm X%
07/18|[KFS1=7| @z | |2 2|1 ok =Zx 2 |2km 519 || 2|LA Xz 2| 2fm 27 BEEE R TS 207563
100mH[0. 840m _ _ _
07/18| % F LU AR BA &= 1 FEBEE BA W= 2 'R = 2
4 x 100mR 1| #RIED = 1(EEE 51041 208B%CEF  1|EE 5150 |[3|h+HEFIE 2 |(2ER 51#78 | 4|7=@A M 1|/ fEXF 517085
TR OBE 1 B HE 2 B OEE 1 ARBHE 1
HEITHE = H}E FE ) KE #EF 2 BA #E 2
BEGKT 2 WA kB 2 FKEEE 2 INARRT 1
SlRIT R 1|25 525502 [ 6|dLm == 2[R 520087 || 7|%RE &Z 1|@EE 533503 [ 8|fx BE 2 |mE 53%b71
=RUEH 2 K BE 1 B mE= 2 BE »E 2
N EZx 2 B2 HEF 1 g i 2 fEEEMN 1
07/18| & 7 L ARIE nE £Z& 2 &R BE 2 FFEHE 2 RE =% 1
4 x 400mR & &m  1|2Es 453155026 2 A == 2 IR 4515870 3|86 A #RE 2 |24ERE 453247005 | 4 | hkkIZDE 1 |B5EE 44324533
Bl TR 1 Bz M 2 hRREB 1 Mg #E 1
| |ssAmEE 2 B OFE 2 TFWAHE 2 K& SF 1
RAREE 2 B0 BZx 2 B EEE 1 WA BE 2
blssk BEES 2 [BEe 4525%12( 6 |XE = 2 |EAF 453257062 7 |[&2H HiE 2 |24EE 45267081 | 8 | R W= 2 |mE 44330067
FiE =M1 Ex E4E 1 ME BB 2 Nk B2
_ BA S 2 B BE 1l EmoLF 1| KilL4H 2
07/ 8| RFC1=7 | A TIXE EF 2 |EBm M5 |2 [laAk & 2 @mER Tm3b MEBEF 2 |21 p32)
EE B _ __ _ _ _ ___ _ _
07/ 18| kF> 17| A TEA Bz 2|2k med |2 |;mA EE 2|2k e |3 |BARERE 2 |2BR ma9 | 4| %I B 2|20 4ma9
FENE Bk +0. 3m +2.0m +1. 0m +0. 1m
AEEE TS m30  |6|FE®E =H 2 |EZBR )
_ _ _ _ +0. 4m _ _ +2.3m BAL _ _ _
07/ 8| RFC1=7 | A TBm =@ 2|8k omed || 2 |Em  EJ7 2B/ ERTF Tmed || 3|k mE 2 |R= oMl || 4 |k e 2| ERT Bm25
R % [4. Okg
BT E 2|5 R BA B 2|FW x5
07/18|ZRFC =7 | R IEEE EIAEETS 3Am0d |2 [P R 2| BEE 33mM60 |3 |2lm D% 2 |m= 32mds [[4|KILA A 2 |R= 3mi7
Y #&[0. 6k
S5|EXR E# 2|@EEF 28m06 6|BER XE 2(&%E 26m75 TS #®m 2|2R 23m61 8RR E&/ 2 (W 22m96




